
Berechne:

Vorgänger 63 780
Zahl

Nachfolger 11 607 64 614

Vorgänger
Zahl 90 560 20 483

Nachfolger 49 381

Vorgänger 81 485 77 687
Zahl

Nachfolger 18 214

Vorgänger 50 348
Zahl 80 923 99 008

Nachfolger
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Vorgänger und Nachfolger bestimmen
Übungen

Vorgänger und Nachfolger bestimmen
Übungen

Nr.: D1272146



Berechne:

Vorgänger 63 780 11 605 64 612
Zahl 63 781 11 606 64 613

Nachfolger 63 782 11 607 64 614

Vorgänger 90 559 20 482 49 379
Zahl 90 560 20 483 49 380

Nachfolger 90 561 20 484 49 381

Vorgänger 81 485 77 687 18 212
Zahl 81 486 77 688 18 213

Nachfolger 81 487 77 689 18 214

Vorgänger 50 348 80 922 99 007
Zahl 50 349 80 923 99 008

Nachfolger 50 350 80 924 99 009
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Vorgänger und Nachfolger bestimmen
Lösungen

Vorgänger und Nachfolger bestimmen
Lösungen
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